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'H� PDQHUD� DWHQWD� PH� SHUPLWR� UHPLWLU� LQIRUPH� ILQDO� GH� HYDOXDFLyQ� WpFQLFD� UHDOL]DGD� D� OD� SURSXHVWD�
DOOHJDGD�SRU�OD�&$-$�&2/20%,$1$�'(�68%6,',2�)$0,/,$5��&2/68%6,',2�HQ�HO�PDUFR�GH�OD�
FRQYRFDWRULD� GHO� DVXQWR� TXH� WLHQH� SRU� REMHWR� ³$GTXLVLFLyQ� GH� ERQRV� UHGLPLEOHV� SRU� DOLPHQWRV� GH� OD�
FDQDVWD�EiVLFD�DOLPHQWLFLD��SDUD�ORV�HVWXGLDQWHV�GH�SUHJUDGR�GH�OD�8QLYHUVLGDG�'LVWULWDO�)UDQFLVFR�-RVp�
GH� &DOGDV� EHQHILFLDULRV� GH� OD� FRQYRFDWRULD� GHO� SURJUDPD� GH� DSR\R� DOLPHQWDULR� SDUD� HO� SHUtRGR�
DFDGpPLFR� ������ �GXUDQWH� OD� HPHUJHQFLD� VDQLWDULD� TXH� REOLJD� DO� GHVDUUROOR� GH� ODV� DFWLYLGDGHV�
DFDGpPLFDV� GH�PDQHUD� YLUWXDO�´��8QD� YH]� DQDOL]DGD� OD� SURSXHVWD� HVWD� GHSHQGHQFLD� GHWHUPLQD� TXH� OD�
PLVPD�FXPSOH�FRQ�ORV�UHTXLVLWRV�GH�OD�FRQYRFDWRULD�SRU�OR�TXH�VH�HQFXHQWUD�KDELOLWDGD�
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